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Tételes étlap 2024.05.27. - 2024.06.02.
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E Kelbimbé leves 695,24 165,73 5,40 11,19 3,62 10,82 0,00 1,08 @@
Bazsalikomos 114997 27511 37,24 1346 485 1,04 000 1,07
csirkemell
Rizi-bizi 1587,47 379,78 920 7,83 0,89 67,60 0,00 1,00
Uborka salata 126,19 30,19 0,86 0,09 0,00 6,46 500 0,03
Osszesen: 3558,87 850,81 52,70 32,57 936 8592 500 3,18
E Jokai bableves 202022 482,71 2570 25,61 9,09 37,13 0,00 3,30 @@
Nudli lekvarral 3134,16 749,80 17,13 9,82 1,06 31,28 1,33 @
144,54
Banan 526,53 12596 1,56 0,12 0,00 2904 0,00 0,07
Ty 1
Osszesen: 5680,91 35847 44,39 3555 10,15 210,71 31,28 4,70
o élelmezésvezetd
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